

About the Numerical Solution of a Stationary Transport Equation

NIKOS MASTORAKIS

Head of the Department of Computer Science
 Military Inst. of University Education / Hellenic Naval Academy
 Terma Hatzikyriakou 18539,
 Piraeus, GREECE
<http://www.wseas.org/mastorakis>

OLGA MARTIN

Department of Mathematics
 University "Politehnica" of Bucharest
 Splaiul Independentei 313
 Bucharest, ROMANIA

Abstract: - An algorithm for determining the solution of a boundary value problem for an integral-differential equation is presented. Using the method of decomposition for a transport equation in the stationary case and a plan-parallel geometry we obtain an approximate solution with an algorithm based on the variational form of the integral identity method. Several examples are included.

Key-Words: integral-differential equation, variational methods, integral identity method.

1 Introduction

In the neutrons transport literature, many authors paid attention to the numerical solutions obtained by the methods of Ritz and Galerkin, the method of least squares, [1],[5],[6],[8],[11], the method of finite elements and Nyström method [12].

In this paper we present an algorithm inspired by the variational form of the integral identity method, [5], applied to a diffusion equation. In the general case, this method is hard to use, but for any symmetry of the source function, it leads to an algorithm more flexible and computationally more efficient than the methods remind before. The numerical examples prove that the errors, which correspond to the approximate solutions, are minimum.

2 Problem formulation

In the stationary case, we consider a transport equation of the form

$$\mu \frac{\partial \varphi(x, \mu)}{\partial x} + \varphi(x, \mu) = \int_{-1}^1 \varphi(x, \mu') d\mu' + f(x, \mu) \quad (1)$$

$$\forall (x, \mu) \in D_1 \times D_2 = [0, H] \times [-1, 1],$$

$$D_2 = D_2' \cup D_2'' = [-1, 0] \cup [0, 1].$$

The boundary conditions are

$$\begin{aligned} \varphi(0, \mu) &= 0 \quad \text{if } \mu > 0 \\ \varphi(H, \mu) &= 0 \quad \text{if } \mu < 0 \end{aligned} \quad (2)$$

Here φ is the density of neutrons, which migrate in a direction defined by the angle α against Ox axis and we denote $\mu = \cos\alpha$. Let us consider the radioactive source f as an even function with respect to μ . Using the notations:

$$\varphi^+ = \varphi(x, \mu) \text{ if } \mu > 0; \quad \varphi^- = \varphi(x, \mu) \text{ if } \mu < 0 \quad (3)$$

and substituting $\mu'' = -\mu'$, we get

$$\int_{-1}^0 \varphi(x, \mu') d\mu' = \int_0^1 \varphi(x, -\mu'') d\mu'' = \int_0^1 \varphi^- d\mu''.$$

Then the conditions (2) become

$$\varphi^+(0, \mu) = 0, \quad \varphi^-(H, \mu) = 0 \quad (4)$$

and the equation (1) can be written in the form

$$\begin{aligned} \mu \frac{\partial \varphi^+}{\partial x} + \varphi^+ &= \int_0^1 (\varphi^+ + \varphi^-) d\mu' + f^+ \\ -\mu \frac{\partial \varphi^-}{\partial x} + \varphi^- &= \int_0^1 (\varphi^+ + \varphi^-) d\mu' + f^- \end{aligned} \quad (5)$$

Adding and subtracting the equations (5) and introducing the notations:

$$\begin{aligned} u &= \frac{1}{2}(\varphi^+ + \varphi^-), \quad v = \frac{1}{2}(\varphi^+ - \varphi^-) \\ g &= \frac{1}{2}(f^+ + f^-), \quad r = \frac{1}{2}(f^+ - f^-) = 0 \end{aligned} \quad (6)$$

we obtain the following system

$$\begin{aligned} \mu \frac{\partial v}{\partial x} + u &= 2 \int_0^1 u d\mu + g \quad (a) \\ \mu \frac{\partial u}{\partial x} + v &= 0 \quad (b) \end{aligned} \quad (7)$$

The boundary conditions become

$$\begin{aligned} u + v &= 0 \quad \text{for } x = 0, \\ u - v &= 0 \quad \text{for } x = H. \end{aligned} \quad (8)$$

Now, we find v from the second equation of (7) and using the first equation, we rewrite the problem (7)-(8) in the following form

$$\begin{aligned} -\mu^2 \frac{\partial^2 u}{\partial x^2} + u &= 2 \int_0^1 u d\mu + g \quad (9) \\ \left(u - \mu \frac{\partial u}{\partial x} \right) \Big|_{x=0} &= \left(u + \mu \frac{\partial u}{\partial x} \right) \Big|_{x=H} = 0 \quad (10) \end{aligned}$$

In order to get a solution of the problem (9)-(10), we consider two points systems on the x axis:

- a principal system: $\{x_k\} = \Delta'_1, k \in \{0, 1, \dots, N\}$, with $x_0 = 0, x_N = H$ and $h = x_{k+1} - x_k$;
- a secondary system, $\{x_{k+1/2}\} = \Delta_1, k \in \{0, 1, 2, \dots, N-1\}$, which verifies the inequalities: $x_{k-1/2} < x_k < x_{k+1/2}$, where

$$x_{k+1/2} = (x_k + x_{k+1}) / 2$$

and

$$0 = x_0 < x_{1/2} < \dots < x_{N-1/2} < x_N = H.$$

Besides this, let $\Delta_2 = \{\mu_l\}, l \in \{0, 1, \dots, L\}$ be a partition of the interval $D_2'' = [0, 1]$ and $\tau = \mu_{l+1} - \mu_l, l \in \{0, 1, \dots, L-1\}$.

Further on, we consider $H=1$. For every value $\mu_l \in \Delta_2$, the problem (9)-(10) becomes:

$$-\mu^2 \frac{d^2 u(x, \mu_l)}{dx^2} + u(x, \mu_l) = f_1(x, \mu_l) \quad (11)$$

where

$$f_1(x, \mu_l) = S(x) + g(x, \mu_l), \quad S(x) = 2 \int_0^1 u(x, \mu) d\mu$$

and

$$\begin{aligned} \left(u(x, \mu_l) - \mu_l \frac{du(x, \mu_l)}{dx} \right) \Big|_{x=0} &= 0 \\ \left(u(x, \mu_l) + \mu_l \frac{du(x, \mu_l)}{dx} \right) \Big|_{x=1} &= 0 \end{aligned} \quad (12)$$

Here we assume $u \in L_2([0, 1])$, the Hilbert space with the scalar product defined by formula

$$(u, v) = \int_0^1 w(x)v(x)dx \quad (13)$$

Now (11)-(12) is a boundary problem for a one-dimensional diffusion equation (11). Integrating (11) with respect to x on the intervals: $(x_{k-1/2}, x_{k+1/2})$, we obtain

$$-J_{k+1/2} + J_{k-1/2} + \int_{x_{k-1/2}}^{x_{k+1/2}} (u - f_1) dx = 0 \quad (14)$$

where

$$J_{k \pm 1/2} = J(x_{k \pm 1/2}), \quad J(x, \mu_l) = \mu_l^2 \frac{du(x, \mu_l)}{dx}.$$

We find $J_{k-1/2}$ integrating (11) on the interval $(x_{k-1/2}, x)$. We get

$$\mu^2 \frac{du(x, \mu_l)}{dx} = J_{k-1/2} + \int_{x_{k-1/2}}^x (u - f_1) dx \quad (15)$$

Then, dividing (15) by μ^2 and integrating on (x_{k-1}, x_k) we have

$$u_k - u_{k-1} = J_{k-1/2} \int_{x_{k-1}}^{x_k} \frac{dx}{\mu_l^2} + \int_{x_{k-1}}^{x_k} \frac{dx}{\mu_l^2} \int_{x_{k-1/2}}^x (u - f_1) d\xi \quad (16)$$

Finally, we get

$$J_{k-1/2} = \frac{\mu_l^2}{h} \left[u_k - u_{k-1} - \frac{1}{\mu_l^2} \int_{x_{k-1}}^{x_k} dx \int_{x_{k-1/2}}^x (u - f_1) d\xi \right] \quad (17)$$

In a similar manner, we obtain $J_{k+1/2}$ replacing k by $k+1$. Consequently, the equality (14) becomes:

$$\begin{aligned} \mu^2 \left(\frac{u_k - u_{k+1}}{h} + \frac{u_k - u_{k-1}}{h} \right) + \int_{x_{k-1/2}}^{x_{k+1/2}} (u - f_1) dx = \\ = -\frac{1}{h} \int_{x_k}^{x_{k+1}} dx \int_{x_{k+1/2}}^x (u - f_1) dx + \frac{1}{h} \int_{x_{k-1}}^{x_k} dx \int_{x_{k-1/2}}^x (u - f_1) dx \end{aligned} \quad (18)$$

Now we shall denote

$$\begin{aligned} \psi(x) &= u(x, \mu_l) - f_1(x, \mu_l) \\ \rho_k(x) &= (x - x_k) / h. \end{aligned} \quad (19)$$

Applying the method of integration by parts we obtain

$$\begin{aligned} -\frac{1}{h} \int_{x_k}^{x_{k+1}} d \left(\int_{x_k}^x d\alpha \right) \int_{x_{k+1/2}}^x \psi(\xi) d\xi = \\ = -\frac{1}{h} (x - x_k) \int_{x_{k+1/2}}^x \psi(\xi) d\xi \Big|_{x_k}^{x_{k+1}} + \frac{1}{h} \int_{x_k}^{x_{k+1}} \left(\int_{x_k}^x d\alpha \right) \psi(x) dx = \\ = -\frac{1}{h} \left[h \int_{x_{k+1/2}}^{x_{k+1}} \psi(\xi) d\xi - \int_{x_k}^{x_{k+1}} (x - x_k) \psi(x) dx \right] = \\ = -\int_{x_{k+1/2}}^{x_{k+1}} \psi(\xi) d\xi + \int_{x_k}^{x_{k+1}} \rho_k(x) \psi(x) dx \end{aligned} \quad (20)$$

Analogously, if we denote

$$\tilde{\rho}_k(x) = \frac{x_k - x}{h} \quad (21)$$

the equation (18) is now of the form

$$\begin{aligned} \mu_l^2 \left(\frac{u_k - u_{k+1}}{h} + \frac{u_k - u_{k-1}}{h} \right) + \int_{x_{k-1}}^{x_k} (1 - \tilde{\rho}_k(x)) \psi(x) dx + \\ + \int_{x_k}^{x_{k+1}} (1 - \rho_k(x)) \psi(x) dx = 0 \end{aligned} \quad (22)$$

It should be observed that the integral from the left-hand side of (18) was decomposed in the intervals: $(x_{k-1/2}, x_k) \cup (x_k, x_{k+1/2})$.

Let us introduce the functions:

$$Q_k(x) = \begin{cases} \frac{1 - \tilde{\rho}_k}{\sqrt{h}} = \frac{x - x_{k-1}}{h\sqrt{h}}, & x \in [x_{k-1}, x_k] \\ \frac{1 - \rho_k}{\sqrt{h}} = \frac{x_{k+1} - x}{h\sqrt{h}}, & x \in [x_k, x_{k+1}] \\ 0, & x \notin [x_{k-1}, x_{k+1}] \end{cases} \quad (23)$$

where

$$Q_k(x_k) = \frac{1}{\sqrt{h}}.$$

Then, using the scalar product, the equations (18) can be rewritten in the form

$$\begin{aligned} \mu_l^2 \left(\frac{u(x_k, \mu_l) - u(x_{k+1}, \mu_l)}{h} + \frac{u(x_k, \mu_l) - u(x_{k-1}, \mu_l)}{h} \right) + \\ + (u, \sqrt{h} Q_k) = (f_1, \sqrt{h} Q_k), \quad k \in \{1, \dots, N-1\} \end{aligned} \quad (24)$$

On the other hand, we observe that

$$\begin{aligned} \left(\mu_l^2 \frac{du(x, \mu_l)}{dx}, \frac{dQ_k}{dx} \right) = \mu_l^2 \int_{x_{k-1}}^{x_k} \frac{du(x, \mu_l)}{dx} \cdot \frac{1}{h\sqrt{h}} dx - \\ - \mu_l^2 \int_{x_k}^{x_{k+1}} \frac{du(x, \mu_l)}{dx} \cdot \frac{1}{h\sqrt{h}} dx = \\ = \mu_l^2 \left(\frac{u_k - u_{k-1}}{h\sqrt{h}} - \frac{u_{k+1} - u_k}{h\sqrt{h}} \right), \quad k \in \{1, 2, \dots, N-1\} \end{aligned} \quad (25)$$

and (24) can be written in the following form:

$$\left(\mu_l^2 \frac{du}{dx}, \frac{dQ_k}{dx} \right) + (u, Q_k) = (f_1, Q_k), \quad k \in \{1, 2, \dots, N-1\} \quad (26)$$

Hence, the identity (18) is replaced by the relations (26). This allows us to consider the integral identity method as a variational method and the equations (26)

may be used for determining the approximate solutions using a sequence of coordinate functions. It should be noted that the equations (26) coincide with the relations obtained by Galerkin method, where $Q_k(x)$ are the coordinate functions. Then, the solution of the system (24) can be defined in the following way

$$\tilde{u}(x, \mu_l) = \sum_{k=1}^{N-1} a_k(\mu_l) Q_k(x) \quad (27)$$

where: $a_k(\mu_l) = 2\beta_k \mu_l^2$.

We shall now determine the coefficients β_k from the condition that (27) be a solution of the system (24). Also, the boundary conditions must be satisfied.

Since the functions u are linear with respect to x , we get from (24) for k segment (x_{k-1}, x_{k+1}) and $x_k = kh$:

$$\begin{aligned} \mu_l^2 \left(\frac{\tilde{u}_k - \tilde{u}_{k+1}}{h\sqrt{h}} + \frac{\tilde{u}_k - \tilde{u}_{k-1}}{h\sqrt{h}} \right) &= \\ &= \frac{\mu^2}{h^2} (2\tilde{u}_k - \tilde{u}_{k-1} - \tilde{u}_{k+1}) = \\ &= -\frac{2\mu^4}{h^2} (\beta_{k-1} - 2\beta_k + \beta_{k+1}) \end{aligned} \quad (28)$$

$$\begin{aligned} (\tilde{u}, Q_k) &= \int_{x_{k-1}}^{x_k} \left(\sum_{j=1}^N 2\beta_j \mu_l^2 Q_j(x) \right) Q_k(x) dx + \\ &+ \int_{x_k}^{x_{k+1}} \left(\sum_{j=1}^N 2\beta_j \mu_l^2 Q_j(x) \right) Q_k(x) dx = \\ &= 2\mu_l^2 \int_{x_{k-1}}^{x_k} \left[\beta_{k-1} \frac{x_k - x}{h\sqrt{h}} \cdot \frac{x - x_{k-1}}{h\sqrt{h}} + \beta_k \left(\frac{x - x_{k-1}}{h\sqrt{h}} \right)^2 \right] dx + \\ &+ 2\mu_l^2 \int_{x_k}^{x_{k+1}} \left[\beta_{k+1} \frac{x - x_k}{h\sqrt{h}} \cdot \frac{x_{k+1} - x}{h\sqrt{h}} + \beta_k \left(\frac{x_{k+1} - x}{h\sqrt{h}} \right)^2 \right] dx = \\ &= \frac{\mu_l^3}{3} (\beta_{k-1} + 4\beta_k + \beta_{k+1}) \end{aligned} \quad (29)$$

$$\begin{aligned} S(x) &= 2 \int_0^1 \tilde{u}(x, \mu) d\mu = 2 \sum_{j=1}^N \int_0^1 2\beta_j \mu^2 Q_j(x) d\mu = \\ &= \frac{4}{3} \sum_{j=1}^N \beta_j Q_j(x) \end{aligned}$$

and

$$\begin{aligned} (S(x), Q_k(x)) &= \frac{4}{3} \int_{x_{k-1}}^{x_k} \left(\sum_{j=1}^N \beta_j Q_j \right) Q_k(x) dx + \\ &+ \frac{4}{3} \int_{x_k}^{x_{k+1}} \left(\sum_{j=1}^N \beta_j Q_j \right) Q_k(x) dx = \frac{2}{9} (\beta_{k-1} + 4\beta_k + \beta_{k+1}) \end{aligned}$$

Thus, we arrive at the following system: (30)

$$\begin{aligned} -\frac{2\mu_l^4}{h^2} (\beta_{k-1} - 2\beta_k + \beta_{k+1}) + \\ + \frac{3\mu_l^2 - 2}{9} (\beta_{k-1} + 4\beta_k + \beta_{k+1}) = \gamma_k \end{aligned} \quad (31)$$

$k \in \{1, \dots, N-1\}$

where

$$\gamma_k = (g, Q_k) = \int_{x_{k-1}}^{x_{k+1}} g(x) Q_k(x) dx.$$

Now we denote:

$$\begin{aligned} a_{k-1,k} &= -\frac{2\mu_l^4}{h^2} + \frac{3\mu_l^2 - 2}{9}, k \in \{2, \dots, N-1\} \\ a_{k,k} &= \frac{4\mu_l^4}{h^2} + \frac{4(3\mu_l^2 - 2)}{9}, k \in \{1, \dots, N-1\} \\ a_{k,k+1} &= a_{k-1,k}, k \in \{1, \dots, N-2\} \end{aligned} \quad (32)$$

The formula (31) can be written as a matrix equation

$$\mathbf{A} \cdot \mathbf{B} = \mathbf{\Gamma} \quad (33)$$

where

- matrix \mathbf{A} is of the form

$$\begin{bmatrix} a_{1,1} & a_{1,2} & 0 & \dots & 0 & 0 & 0 \\ a_{2,1} & a_{2,2} & a_{2,3} & \dots & 0 & 0 & 0 \\ \vdots & \vdots & \vdots & \dots & \vdots & \vdots & \vdots \\ 0 & 0 & 0 & \dots & a_{N-2,N-3} & a_{N-2,N-2} & a_{N-2,N-1} \\ 0 & 0 & 0 & \dots & 0 & a_{N-1,N-2} & a_{N-1,N-1} \end{bmatrix}$$

- \mathbf{B} is a column matrix:

$$[\beta_1 \ \beta_2 \ \dots \ \beta_{N-1}]^T$$

- $\mathbf{\Gamma}$ is a column matrix:

$$[\gamma_1 \ \gamma_2 \ \dots \ \gamma_{N-1}]^T.$$

Here one property of approximation (27) should be noted. The functions Q_{k-1} and Q_{k+1} are orthogonal, since at such places where one of these is nonzero, the other is equal to zero. Thus, the basis introduced is "almost orthogonal". This is the reason behind the appearance of band in the matrix \mathbf{A} .

Solving the system of equations (33) we can find the values of coefficients β_k , i.e. we can construct by (27) the solution u of (11)-(12). Let us now consider

$$x_k = y_0 < y_1 < \dots < y_m = x_{k+1}$$

for every interval (x_k, x_{k+1}) , $k = 0, 1, \dots, N - 1$. Using the $Q_k(x)$, we can find the values of $\tilde{u}_{k,j}$, $k \in \{1, 2, \dots, N-1\}$, $j \in \{1, 2, \dots, m\}$. In order to get v , we use $\tilde{u}_{k,j}$ and the numerical derivative for equation (7b):

$$\tilde{v}_{k,j} = -\frac{\tilde{u}_{k,j+1} - \tilde{u}_{k,j-1}}{2(h/m)} \cdot \mu_l^2, \quad k \in \{1, 2, \dots, N\}, j \in \{1, 2, \dots, m-1\} \quad (34)$$

$$\tilde{v}_{k,0} = -\frac{\tilde{u}_{k+1,1} - \tilde{u}_{k,m-1}}{2(h/m)} \cdot \mu_l^2, \quad k \in \{1, 2, \dots, N-1\}$$

$$v_{1,0} = -\frac{\tilde{u}_{1,1} \cdot \mu_l^2}{h/m}, \quad v_{N,m} = -\frac{\tilde{u}_{N,m} - \tilde{u}_{N,m-1}}{h/m}$$

where

$$\tilde{u}_{k,j} = 2\mu_l^2 \left(\beta_{k-1} \frac{x_{k+1} - y_j}{h\sqrt{h}} + \beta_k \frac{y_j - x_{k-1}}{h\sqrt{h}} \right), \quad k \in \{1, 2, \dots, N-1\}, j \in \{0, 1, \dots, m\} \quad (35)$$

According to the continuity of function u we get

$$\tilde{u}_{k-1,m} = \tilde{u}_{k,0}, \quad k \in \{1, 2, \dots, N\}. \quad (36)$$

Finally, the values of φ obtained by this algorithm will be

$$\tilde{\varphi}_{k,j}^+ = u_{k,j} + v_{k,j} \quad \text{for } \mu_l > 0 \quad (37)$$

$$\tilde{\varphi}_{k,j}^- = u_{k,j} - v_{k,j} \quad \text{for } \mu_l < 0$$

$$k \in \{1, 2, \dots, N\}, j \in \{0, 1, \dots, m\}.$$

3 Numerical examples

Let us consider the stationary transport equation

$$\mu \frac{\partial \varphi(x, \mu)}{\partial x} + \varphi(x, \mu) = \int_{-1}^1 \varphi(x, \mu') d\mu' + f(x, \mu) \quad (38)$$

$$\forall (x, \mu) \in D_1 \times D_2, D_1 = [0, 1], D_2 = [-1, 1]$$

with the boundary conditions

$$u(0, \mu) = 0, \mu > 0; \quad u(1, \mu) = 0, \mu < 0. \quad (39)$$

Now, we choose an even function f with respect μ of the form

$$f(x, \mu) = -2\pi^2 \mu^4 \cos(2\pi x) + \mu^2 \sin^2(\pi x) \quad (40)$$

Hence, $r = (f^+ - f^-)/2 = 0$ and we obtain $g = f$.

We break up the closed interval D_1 into $N = 8$ segments of length $h = 1/8$ and for $D_2 = [0, 1]$ we have $L = 4$. Some computational results will illustrate the application of above algorithm.

Let us now consider that $\mu_l = 1/2$. Using (39) we get

$$\gamma_k = \int_{x_{k-1}}^{x_{k+1}} g(x) Q_k(x) dx = A_1 \frac{\cos(2k\pi h) \sin^2(\pi h)}{\pi^2} + B_1 h^2, \quad k \in \{1, \dots, N-1\}$$

where

$$A_1 = \frac{1}{h\sqrt{h}} \left(\frac{2 - 3\mu^2}{6} - 2\mu^4 \pi^2 \right), B_1 = \frac{3\mu^2 - 2}{6h\sqrt{h}}, \quad k \in \{1, 2, \dots, 7\}. \quad (41)$$

$$\gamma_0 = \gamma_8 = A_1 \frac{\sin^2(\pi h)}{2\pi^2} + B_1 \frac{h^2}{2}.$$

In this case, the matrices of equation (33) are of the form

$$\mathbf{A} = \begin{bmatrix} 15.4 & -8.14 & 0 & 0 & 0 & 0 & 0 \\ -8.14 & 15.4 & -8.14 & 0 & 0 & 0 & 0 \\ 0 & -8.14 & 15.4 & -8.14 & 0 & 0 & 0 \\ 0 & 0 & -8.14 & 15.4 & -8.14 & 0 & 0 \\ 0 & 0 & 0 & -8.14 & 15.4 & -8.14 & 0 \\ 0 & 0 & 0 & 0 & -8.14 & 15.4 & -8.14 \\ 0 & 0 & 0 & 0 & 0 & -8.14 & 15.4 \end{bmatrix},$$

$$\mathbf{\Gamma} = [-0.21 \quad -0.074 \quad 0.17 \quad 0.27 \quad 0.17 \quad -0.073 \quad -0.21]^T$$

Solving (33), we obtain \mathbf{B} , the matrix of coefficients β_k

$$\mathbf{B} = [0.052 \quad 0.123 \quad 0.2 \quad 0.22 \quad 0.2 \quad 0.123 \quad 0.052]^T.$$

In the following, each interval, $[x_k, x_{k+1}]$ is divided into subintervals $[y_j, y_{j+1}]$, where

$$x_k = y_0 < y_1 < y_2 < y_3 < y_4 = x_{k+1}, \quad k \in \{1, 2, \dots, 7\}, \\ y_{j+1} - y_j = h/4, \quad j \in \{0, 1, 2, 3\}, \quad m = 4 \text{ and}$$

$u_{k,0} = u_{k-1,4}$, $k \in \{2, \dots, 8\}$. Table 1 shows the values $u_{k,j}$, which were calculated with the help of the formula (35) :

Table 1

$k \backslash j$	0	1	2	3	4
0	0	0	0	0	0
1	0	0.018	0.036	0.055	0.073
2	0.073	0.098	0.124	0.149	0.175
3	0.175	0.2	0.223	0.247	0.271
4	0.271	0.281	0.291	0.3	0.311
5	0.311	0.3	0.291	0.281	0.272
6	0.272	0.247	0.223	0.2	0.175
7	0.175	0.149	0.124	0.099	0.073
8	0.073	0.055	0.037	0.018	0.

Table 2

$k \backslash j$	0	1	2	3	4
0	0	0	0	0	0
1	0	-0.29	-0.29	-0.29	-0.35
2	-0.35	-0.41	-0.41	-0.41	-0.4
3	-0.4	-0.39	-0.39	-0.39	-0.27
4	-0.27	-0.16	-0.16	-0.16	0
5	0	0.16	0.16	0.16	0.27
6	0.27	0.39	0.39	0.39	0.4
7	0.4	0.41	0.41	0.41	0.35
8	0.35	0.29	0.29	0.29	0.

Table 2 shown the values of v , calculated with the help of the relations (34).

Approximate values of the solution of equation (11), where g is definite by (38), were compared with these obtained by exact solution:

$$ue(x, \mu_l) = \mu_l^2 \sin^2(\pi x). \tag{42}$$

Finally, the solution $\varphi_{k,j}$ of the boundary problem (38) - (40) for $\mu_l = 1/2$ was computed from (37). Hence

$$\varphi_{k,j} = \tilde{u}_{k,j} + \tilde{v}_{k,j}$$

$$k \in \{1, 2, \dots, 7\}, j \in \{0, 1, 2, 3, 4\}.$$

Table 3 shows the values of $\tilde{u}(x_k, \mu_l), \tilde{v}(x_k, \mu_l)$ $\varphi_+(x_k, \mu_l)$, $k \in \{1, 2, \dots, 8\}$ for different values of μ .

The numerical solution u of the boundary problem (11)-(12) has been compared with the exact solution ue and an estimation of the correspond approximations:

$$\varepsilon = u - ue$$

have been given.

$\mu = 1/4$ Table 3

k	1	2	3	4	5	6	7	8
u	-0.0026	0.007	0.058	0.09	0.058	0.007	-0.0024	0
v	-0.007	-0.06	-0.083	0	0.083	0.06	0.007	0
φ	-0.01	-0.054	-0.024	0.09	0.14	0.068	0.005	0
ue	0.009	0.031	0.053	0.062	0.053	0.031	0.009	0
ε	-0.012	-0.024	0.005	0.027	0.005	-0.024	-0.012	0

$\mu = 1/2$ Table 4

k	1	2	3	4	5	6	7	8
u	0.073	0.175	0.271	0.311	0.272	0.175	0.073	0
v	-0.35	-0.4	-0.27	0.	0.27	0.4	0.35	0
φ	-0.276	-0.222	-0.001	0.31	0.543	0.57	0.423	0
ue	0.037	0.125	0.213	0.25	0.214	0.125	0.037	0
ε	0.036	0.05	0.058	0.061	0.058	0.05	0.036	0

$\mu = 3/4$ Table 5

k	1	2	3	4	5	6	7	8
u	0.117	0.317	0.515	0.6	0.516	0.317	0.118	0
v	0.95	-1.19	-0.845	-0.002	0.843	1.195	0.95	0
φ	-0.83	-0.878	-0.33	0.6	1.36	1.512	1.07	0

ue	0.082	0.28	0.48	0.56	0.48	0.28	0.083	0
ε	0.035	0.035	0.036	0.036	0.035	0.035	0.035	0

$\mu = 1$ Table 6

k	1	2	3	4	5	6	7	8
u	0.205	0.56	0.91	1.06	0.912	0.56	0.206	0
v	-2.23	-2.82	-2	-0.004	2	2.82	2.24	0
φ	-2.026	-2.265	1.088	1.054	2.906	3.38	2.44	0
ue	0.146	0.5	0.853	1	0.854	0.5	0.147	0
ε	0.059	0.058	0.058	0.058	0.058	0.058	0.058	0

4 Conclusions

Analyzing the results of numerical examples, we find that the difference

$$|ue - \tilde{u}| \leq 0.06 \cong 2h\sqrt{\mu h}$$

Let it be considered an interpolation polynomial of solution $u(x, \mu_l)$:

$$U(x, \mu_l) = \sum_{k=1}^{N-1} u(x_k, \mu_l) Q_k(x) \sqrt{h} \tag{43}$$

hence

$$U(x_k, \mu_l) = u(x_k, \mu_l), k \in \{0, 1, \dots, N\}. \tag{44}$$

Further on, we noted for a fixed value μ_l :

$$U(x) = U(x, \mu_l) \text{ and } u(x) = u(x, \mu_l).$$

To obtain an estimate of the error occurring as a result of replacing the function $u(x)$ by $U(x)$, we have computed for every $x \in [x_{k-1}, x_k]$, the difference:

$$\begin{aligned} u(x) - U(x) &= \int_{x_{k-1}}^x \frac{d}{dt} (u(t) - U(t))(t') dt' = \\ &= \int_{x_{k-1}}^x \frac{du}{dt}(t') dt' - \int_{x_{k-1}}^x \frac{dt'}{h} \int_{x_{k-1}}^{x_k} \frac{du}{dt}(t'') dt'' = \\ &\leq \frac{1}{h} \int_{x_{k-1}}^{x_k} dt'' \int_{x_{k-1}}^x \left[\frac{du}{dt}(t') - \frac{du}{dt}(t'') \right] dt' = \\ &= \frac{1}{h} \int_{x_{k-1}}^{x_k} dt'' \int_{x_{k-1}}^x dt' \int_{t'}^{t''} \frac{d^2u}{d\xi^2}(\xi) d\xi \end{aligned} \tag{45}$$

This leads to the inequality

$$|u(x) - U(x)| \leq \frac{h^2}{h} \int_{x_{k-1}}^{x_k} \left| \frac{d^2u}{d\xi^2} \right| d\xi, \forall x \in [x_{k-1}, x_k]$$

hence

$$\begin{aligned} \max_{[x_{k-1}, x_k]} |u(x) - U(x)| &\leq h \max_{[x_{k-1}, x_k]} \left| \frac{d^2u}{d\xi^2} \right| h = \\ &= h^2 \left\| \frac{d^2u}{d\xi^2} \right\|_{L_\infty[x_{k-1}, x_k]} \leq M h^2 \|f_1\|_{L_\infty[x_{k-1}, x_k]}. \end{aligned}$$

If $\frac{d^2u}{dx^2} \in L_\infty[0,1]$, when $H = 1$, we also get

$$\begin{aligned} \|u - U\|_{C[0,1]} &\leq M h^2 \left\| \frac{d^2u}{dx^2} \right\|_{L_\infty[0,1]} \leq \\ &\leq M h^2 \|f_1\|_{L_\infty[0,1]}. \end{aligned}$$

Thus, we have obtained that the approximation of u is of the order h^2 .

References:

- [1]. Ackroyd R.T., Gashut A.M., O.A. Abuzid O., Discontinuous Variational Solutions for the Neutron Diffusion Equation, *Ann. Nucl. Energy*, **23**, (1996), 1289.
- [2]. Case K. M. and Zweifel P. F., *Linear Transport Theory*, Addison-Wesley, Massachusetts, 1967.
- [3]. Davis W. R., *Classical Fields, Particles and the Theory of Relativity*, Gordon and Breach, New York, 1970.
- [4]. Glasstone S. and Kilton C., *The Elements of Nuclear Reactors Theory*, Van Nostrand, Toronto – New York – London, 1982.
- [5]. Marchouk G., *Méthodes de Calcul Numérique*, Édition MIR de Moscou, 1980.
- [6]. Marchouk G. and Shaydourov V.,

- Raffinement des Solutions des Schémas aux Différences*, Édition MIR de Moscou, 1983.
- [7]. Marciuk G. and Lebedev V. , *Cislennie Metodî v Teorii Terenosa Neitronov*, Atomizdat, Moscova, 1971.
- [8]. Martin O., Une Méthode de Résolution de l'Équation du Transfert des Neutrons, *Rev.Roum. Sci. Tech.- Méc. Appl.*, **37**,6, (1992), 623-646.
- [9] Martin O., Analytical and Numerical Solutions for One- Dimensional Transport Equation, *WSEAS TRANSACTIONS on CIRCUITS and SYSTEMS*, **3**,7(2004), 383-389.
- [10]. Mihailescu N., Oscillations in the Power Distribution in a Reactor, *Rev. Nuclear Energy*, **9**, 1-4 (1998), 37-41.
- [11]. Mokhtar-Kharroubi M., *Topics in Neutron Transport Theory*, Series on Advances in Math. For Applied Sciences, Bellomo and Brezzi, 1997.
- [12]. Ntouyas S. K., *Global Existence for Neutral Functional Integral Differential Equations*, Proc. 2nd World Congress of Nonlinear Analysts, 1997, 2133-2142.
- [13]. Parton V.Z., Perlin P.I., *Mathematical Methods of the Theory of Elasticity*, MIR Publishers Moscow, 1984.
- [14]. Pilkuhn H., *Relativistic Particle Physics*, Springer Verlag, New York - Heidelberg-Berlin, 1980.
- [15]. Rahnema F., Ravetto P., On the Equivalence on Boundary and boundary Condition Perturbations in Transport Theory, *Nuclear Sci. Eng.*, **128** (1998), 209-223.
- [16]. Weston M., Stacey M., *Nuclear Reactor Physics*, Wiley, New York, 2001.
- [17]. Nikos Mastorakis, Olga Martin, “On the solution of Integral-Differential Equations via the Rayleigh-Ritz Finite Elements Method: Stationary Transport Equation”, *WSEAS Trans. on MATHEMATICS*, Issue 2, Volume 4, April 2005, pp.41-49
- [18]. Julia Bondarenko, Nikos Mastorakis, “Solution of Partial Differential Equation for the Option Price by Means the Modified Parametrix”Method, *WSEAS Trans. on MATHEMATICS*, Issue 4, Volume 3, October 2004, pp.737-743
- [19]. Nikos Mastorakis, “Solving Non-linear Equations via Genetic Algorithm”, *WSEAS Transactions on INFORMATION SCIENCE & APPLICATIONS*, Issue 5, Volume 2, May 2005, pp.455-459
- [20]. Nikos Mastorakis, “On the Solution of Ill-Conditioned Systems of Linear and Non-Linear Equations via Genetic Algorithms (GAs) and Nelder-Mead Simplex Search”, *WSEAS Transactions on INFORMATION SCIENCE & APPLICATIONS*, Issue 5, Volume 2, May 2005, pp.460-466
- [21]. Nikos Mastorakis, “Numerical Solution of Non-Linear Ordinary Differential Equations via Collocation Method (Finite Elements) and Genetic Algorithms”, *WSEAS Transactions on INFORMATION SCIENCE & APPLICATIONS*, Issue 5, Volume 2, May 2005, pp.467-473